

# On certain inequalities for $\varphi, \psi, \sigma$ and related functions, III

József Sándor<sup>1</sup>  and Karol Gryska<sup>2</sup> 

<sup>1</sup> Department of Mathematics, Babeş-Bolyai University

400084 Cluj-Napoca, Romania

e-mail: jsandor@math.ubbcluj.ro

<sup>2</sup> Institute of Mathematics, University of the National Education Commission, Krakow

30-084 Krakow, Poland

e-mail: karol.gryszka@uken.krakow.pl

**Received:** 10 December 2024

**Revised:** 3 June 2025

**Accepted:** 4 June 2025

**Online First:** 9 June 2025

**Abstract:** We obtain generalizations of certain results from [2] and [4]. The unitary variants are also considered. Some new arithmetic functions and their inequalities are also considered.

**Keywords:** Arithmetic functions, Inequalities.

**2020 Mathematics Subject Classification:** 11A25, 26D15.

## 1 Introduction

Let  $\varphi(n)$ ,  $\psi(n)$  and  $\sigma(n)$  denote the classical arithmetic functions, representing Euler's totient, Dedekind's function, and the sum of divisors functions, respectively. Let  $\varphi^*(n)$ ,  $\sigma^*(n)$  denote the unitary analogues of the functions  $\varphi$  and  $\sigma$ . It is well-known that  $\varphi(1) = \psi(1) = \sigma(1) = \varphi^*(1) = \sigma^*(1) = 1$  and that these functions are multiplicative, and for prime powers  $n = p^a$  ( $p$  prime,  $a \geq 1$  integer) one has

$$\varphi(p^a) = p^a \cdot \left(1 - \frac{1}{p}\right), \quad \psi(p^a) = p^a \cdot \left(1 + \frac{1}{p}\right), \quad \sigma(p^a) = \frac{p^{a+1} - 1}{p - 1} \quad (1)$$



and

$$\varphi^*(p^a) = p^a - 1, \quad \sigma^*(p^a) = p^a + 1 \quad (2)$$

(see [5] and [3]).

In part II of this series [4], by refining earlier results by S. Dimitrov [1], the following inequalities have been proved (in what follows,  $n \geq 2$ ):

**Theorem 1.**

$$\varphi^2(n) + \psi^2(n) + \sigma^2(n) \geq \varphi^2(n) + 2\psi^2(n) \geq 3n^2 + 2n + 3. \quad (3)$$

**Theorem 2.**

$$\varphi(n)\psi(n) + \varphi(n)\sigma(n) + \sigma(n)\psi(n) \geq \psi^2(n) + 2\varphi(n)\psi(n) \geq 3n^2 + 2n - 1, \quad (4)$$

**Theorem 3.**

$$(\varphi^*(n))^2 + (\psi(n))^2 + (\sigma^*(n))^2 \geq (\psi^*(n))^2 + 2(\sigma^*(n))^2 \geq 3n^2 + 2n + 3, \quad (5)$$

**Theorem 4.**

$$\varphi^*(n)\psi(n) + \varphi^*(n)\sigma^*(n) + \psi(n)\sigma^*(n) \geq 2\varphi^*(n)\sigma^*(n) + (\sigma^*(n))^2 \geq 3n^2 + 2n - 1. \quad (6)$$

In the paper [2], S. Dimitrov proved the following inequalities:

**Theorem 5.** (Theorem 1 of [2]).

$$\varphi^3(n) + \psi^3(n) + \sigma^3(n) \geq 3n^3 + 3n^2 + 9n + 1. \quad (7)$$

**Theorem 6.** (Theorem 2 of [2]).

$$\varphi^4(n) + \psi^4(n) + \sigma^4(n) \geq 3n^4 + 4n^3 + 18n^2 + 4n + 3. \quad (8)$$

**Theorem 7.** (Theorem 5 of [2]).

$$\begin{aligned} & \varphi^3(n)(\psi(n) + \sigma(n)) + \psi^3(n)(\varphi(n) + \sigma(n)) + \sigma^3(n)(\varphi(n) + \psi(n)) \\ & \geq 6n^4 + 8n^3 + 12n^2 + 8n - 2. \end{aligned} \quad (9)$$

In what follows, we will generalize all the above inequalities, and among others, these generalizations will provide also refinements of inequalities (7)–(9).

Inspired by the auxiliary results proved in this process, certain new arithmetic functions will be considered, too.

## 2 Main results

Let  $k \geq 2$ ,  $n \geq 2$  be integers. Then one has

**Theorem 8.**

$$\varphi^k(n) + \psi^k(n) + \sigma^k(n) \geq \varphi^k(n) + 2\psi^k(n) \geq (n-1)^k + 2(n+1)^k. \quad (10)$$

**Theorem 9.**

$$\begin{aligned}\varphi^k(n)\psi^k(n) + \varphi^k(n)\sigma^k(n) + \sigma^k(n)\psi^k(n) &\geq \psi^{2k}(n) + 2\varphi^k(n)\psi^k(n) \\ &\geq 2(n^2 - 1)^k + (n + 1)^{2k}.\end{aligned}\quad (11)$$

**Theorem 10.**

$$(\varphi^*(n))^k + (\sigma^*(n))^k + (\psi(n))^k \geq (\varphi^*(n))^k + 2(\sigma^*(n))^k \geq (n - 1)^k + 2(n + 1)^k. \quad (12)$$

**Theorem 11.**

$$\begin{aligned}(\varphi^*(n))^k \psi^k(n) + (\varphi^*(n))^k (\sigma^*(n))^k + \psi^k(n) (\sigma^*(n))^k &\geq (\sigma^*(n))^k + 2(\varphi^*(n))^k \\ &\geq (n + 1)^k + 2(n^k - 1).\end{aligned}\quad (13)$$

**Theorem 12.**

$$\begin{aligned}\varphi^k(n)(\psi(n) + \sigma(n)) + \psi^k(n)(\varphi(n) + \sigma(n)) + \sigma^k(n)(\varphi(n) + \psi(n)) \\ \geq 2\psi(n)(\psi^k(n) + \psi^{k-1}(n)\varphi(n) + \psi^k(n)) \\ \geq 2(n + 1)[(n - 1)^k + 2n(n + 1)^{k-1}].\end{aligned}\quad (14)$$

**Theorem 13.**

$$\begin{aligned}(\varphi^*(n))^k(\psi(n) + \sigma^*(n)) + (\psi(n))^k \cdot (\varphi^*(n) + \sigma^*(n)) \\ + (\sigma^*(n))^k \cdot (\varphi^*(n) + \psi(n)) \\ \geq 2\sigma^*(n)[(\varphi^*(n))^k + \varphi^*(n)(\sigma^*(n))^{k-1} + (\sigma^*(n))^k] \\ \geq 2(n + 1) \cdot [(n - 1)^k + 2n(n + 1)^{k-1}].\end{aligned}\quad (15)$$

We need the following auxiliary results:

**Lemma 1.** *Let  $x_i > i$  ( $i = 1, 2, \dots, k$ ),  $r \geq 1$ . Then*

$$\prod_{i=1}^r (x_i - 1)^k + 2 \prod_{i=1}^r (x_i + 1)^k \geq \left( \prod_{i=1}^r x_i - 1 \right)^k + 2 \left( \prod_{i=1}^r x_i + 1 \right)^k. \quad (16)$$

*Proof.* We will use induction upon  $r$ . For  $r = 1$ , there is equality. Assume that (16) holds true for  $r$ , we will prove it for  $r + 1$ . We have

$$\begin{aligned}&\prod_{i=1}^r (x_i - 1)^k \cdot (x_{r+1} - 1)^k + 2 \prod_{i=1}^r (x_i + 1)^k \cdot (x_{r+1} + 1)^k \\ &= \left( \sum_{j=0}^k \binom{k}{j} (-1)^j \cdot x_{r+1}^{k-j} \right) \prod_{i=1}^r (x_i - 1)^k + 2 \left( \sum_{j=0}^k \binom{k}{j} x_{r+1}^{k-j} \right) \cdot \prod_{i=1}^r (x_i + 1)^k \\ &= x_{r+1}^k \left( \prod_{i=1}^r (x_i - 1)^k + 2 \prod_{i=1}^r (x_i + 1)^k \right) \\ &\quad + \sum_{j=1}^k \binom{k}{j} x_{r+1}^{k-j} \cdot \left( (-1)^j \prod_{i=1}^r (x_i - 1)^k + \prod_{i=1}^r (x_i + 1)^k \right).\end{aligned}$$

As  $x_i > 1$  and  $x_{r+1} > 1$ , we get

$$(-1)^j \cdot \prod_{i=1}^r (x_i - 1)^k + \prod_{i=1}^r (x_i + 1)^k > 0$$

and thus above is, by induction

$$> x_{r+1}^k \left( \prod_{i=1}^r (x_i - 1)^k + 2 \prod_{i=1}^r (x_i + 1)^k \right) \geq x_{r+1}^k \left[ \left( \prod_{i=1}^r x_i - 1 \right)^k + 2 \left( \prod_{i=1}^r x_i + 1 \right)^k \right].$$

Then, we have

$$\begin{aligned} x_{r+i}^k \left[ \left( \prod_{i=1}^r x_i - 1 \right)^k + 2 \left( \prod_{i=1}^r x_i + 1 \right)^k \right] &= x_{r+i}^k \left[ \sum_{j=0}^k \binom{k}{j} \left( 2 \prod_{i=1}^r x_i^j + (-1)^{k-j} \prod_{i=1}^r x_i^j \right) \right] \\ &= \sum_{j=0}^k \binom{k}{j} \left( 2x_{r+i}^k \prod_{i=1}^r x_i^j + (1)^{k-j} x_{r+1}^k \prod_{i=1}^r x_i^j \right) \\ &> \sum_{j=0}^k \binom{k}{j} \left( 2 \prod_{i=1}^{r+1} x_i^j + (1)^{k-j} \prod_{i=1}^{r+1} x_i^j \right) \\ &= \left( \prod_{i=1}^{r+1} x_i - 1 \right)^k + 2 \left( \prod_{i=1}^{r+1} x_i + 1 \right)^k. \end{aligned}$$

We have used that the coefficients of the polynomial in variables  $x_1, \dots, x_{r+1}$  are positive numbers,  $x_r > 1$  and trivially  $x_r^{i+1} > x_r^i$ . Thus the proof of (16) is completed.  $\square$

The proof of the following lemma is similar:

**Lemma 2.** *Let  $x_i > 1$ ,  $r \geq 1$ . Then*

$$\begin{aligned} &\prod_{i=1}^r (x_i - 1)^k + \prod_{i=1}^r (x_i - 1) \prod_{i=1}^r (x_i + 1)^{k-1} + \prod_{i=1}^r (x_i + 1)^k \\ &\geq \left( \prod_{i=1}^r x_i - 1 \right)^k + 2 \prod_{i=1}^r x_i \cdot \left( \prod_{i=1}^r x_i + 1 \right)^{k-1}. \end{aligned} \quad (17)$$

**Lemma 3.** *Let  $x_i > 1$ ,  $r \geq 1$ . Then*

$$\prod_{i=1}^r (x_i + 1)^k + 2 \prod_{i=1}^r (x_i^k - 1) \geq \prod_{i=1}^r (x_i + 1)^k + 2 \left( \prod_{i=1}^r x_i^k - 1 \right). \quad (18)$$

**Lemma 4.** *Let  $x_i > 1$ ,  $r \geq 1$  ( $i = 1, 2, \dots, r$ ). Then*

$$\prod_{i=1}^r (x_i + 1)^{2k} + 2 \prod_{i=1}^r (x_i^2 - 1)^k \geq \left( \prod_{i=1}^r x_i + 1 \right)^{2k} + 2 \left( \prod_{i=1}^r x_i^2 - 1 \right)^k. \quad (19)$$

*Proof.* Inequality (18) is proved in [4] for  $k = 1$  and  $k = 2$ . Thus, we will assume in what follows that  $k \geq 3$ . Let thus assume (18) is true for  $r$  and we will prove it for  $r + 1$ . One has:

$$\begin{aligned}
& \prod_{i=1}^{r+1} (x_i + 1)^k + 2 \prod_{i=1}^{r+1} (x_i^k - 1) \\
&= \prod_{i=1}^{r+1} (x_i + 1)^k \cdot (x_{r+1} + 1)^k + 2 \prod_{i=1}^{r+1} (x_i^k - 1)(x_{r+1} - 1) \\
&= \left( \sum_{j=0}^k \binom{k}{j} x_{r+1}^j \right) \prod_{i=1}^r (x_i + 1)^k + 2x_{r+1}^k \cdot \prod_{i=1}^r (x_i^k - 1) - 2 \prod_{i=1}^r (x_i^k - 1) \\
&= x_{r+1}^k \left( \prod_{i=1}^r (x_i + 1)^k + 2 \prod_{i=1}^r (x_i^k - 1) \right) + \left( \sum_{j=0}^{k-1} \binom{k}{j} x_{r+1}^j \right) \cdot \prod_{i=1}^r (x_i + 1)^k - 2 \prod_{i=1}^r (x_i - 1).
\end{aligned}$$

The final sum contains two expressions, the first being the product of  $x_{r+1}^k$  with the sum in parentheses, the second being the remaining two terms. We now prove that the second expression is non-negative, then we prove that the first expression is sufficient to derive the desired bound. Notice that

$$\sum_{j=0}^{k-1} \binom{k}{j} x_{r+1}^j \geq 1 + kx_{r+1} > 2$$

(we use  $k \geq 2$  and  $x_{r+1} > 1$ ), therefore

$$\begin{aligned}
& \left( \sum_{j=0}^{k-1} \binom{k}{j} x_{r+1}^j \right) \prod_{i=1}^r (x_i + 1)^k - 2 \prod_{i=1}^r (x_i^k - 1) > 2 \prod_{i=1}^r (x_i + 1)^k - 2 \prod_{i=1}^r (x_i^k + 1) \\
&= 2 \prod_{i=1}^r \left( x_i^j + 1 + \sum_{j=1}^{k-1} \binom{k}{j} x_i^j \right) - 2 \prod_{i=1}^r (x_i^k + 1) \geq 0
\end{aligned}$$

and thus the second expression is non-negative. Moreover, using the induction hypothesis we can now write the first expression as

$$\begin{aligned}
x_{r+1}^k \cdot \left( \prod_{i=1}^r (x_i + 1)^k + 2 \prod_{i=1}^r (x_i^k - 1) \right) &\geq x_{r+1}^k \cdot \left[ \left( \prod_{i=1}^r x_i + 1 \right)^k + 2 \left( \prod_{i=1}^r x_i^k - 1 \right) \right] \\
&= \left( \prod_{i=1}^{r+1} x_i + x_{r+1} \right)^k + 2 \prod_{i=1}^{r+1} x_i^k - 2x_{r+1}^k
\end{aligned} \tag{20}$$

we now put  $a = \prod_{i=1}^r x_i$ ,  $b = x_{r+1}$ , and write (20) to  $(ax + x)^k + 2a^k x^k - 2x^k$ . To complete the proof, it is now sufficient to show that

$$(ax + x)^k + 2a^k x^k - 2x^k \geq (ax + 1)^k + 2(a^k x^k - 1),$$

which is equivalent to

$$(a + 1)^k - 2 \geq \left( a + \frac{1}{x} \right)^k - \frac{2}{x^k}. \tag{21}$$

By letting

$$f(x) = \left(a + \frac{1}{x}\right)^k - \frac{2}{x^k},$$

it is immediate that

$$f'(x) = \frac{[k(2 - (ax + 1)^{k-1})]}{x^{k+1}} < 0$$

for  $x > 1$ . Thus  $f$  is decreasing, giving  $f(1) > f(a)$  for  $x > 1$  and (21) follows. The proof of Lemma 4 is similar.  $\square$

### Proof of Theorems 8–13

The middle inequalities are consequences of the well-known inequalities  $\sigma(n) \geq \psi(n)$  and  $\psi(n) \geq \sigma^*(n)$ , so we have to prove the last inequalities.

Applying Lemma 1 to  $x_i = p_i^{a_i}$ , where  $n = p_1^{a_1} \cdots p_r^{a_r}$  = prime factorization of  $n$ , first remark that Theorem 10 follows immediately. Also Theorem 11 follows by Lemma 3.

To prove Theorem 8, by application of Lemma 1, we proceed as in [4], by remarking that if  $n = \prod_{i=1}^r p_i^{a_i}$  is the prime factorization of  $n$ , then

$$\frac{\varphi(n)}{n} = \prod_{i=1}^r \frac{\varphi(p_i)}{p_i} \quad \text{and} \quad \frac{\psi(n)}{n} = \prod_{i=1}^r \frac{\psi(p_i)}{p_i},$$

thus it is sufficient to apply Lemma 1 for  $x_i = p_i$ .

To complete the proof, remark that  $\frac{1}{p_i^{a_i}} \leq \frac{1}{p_i}$ , so dividing both sides of (10) by  $n^k = p_1^{ka_1} \cdots p_r^{ka_r}$ , the inequalities follows by Lemma 1 for  $x_i = p_i$ .

The proof of Theorem 9 follows by Lemma (4). Applying Lemma 4 to  $x_i = p_i$ , and to finish the proof of Theorem 9, we have to show that

$$\left(1 + \frac{1}{p_1 \cdots p_r}\right)^{2k} + 2\left(1 - \frac{1}{p_1^2 \cdots p_r^2}\right)^k \geq \left(1 + \frac{1}{p_1^{a_1} \cdots p_r^{a_r}}\right)^{2k} + 2\left(1 - \frac{1}{p_1^{2a_1} \cdots p_r^{2a_r}}\right)^k \quad (22)$$

Let  $f(a_1) = 1 + (x_1^{a_1} x_2^{a_2} \cdots x_r^{a_r})^{2k} + 2(1 - x_1^{2a_1} \cdots x_r^{2a_r})^k$ , where  $x_i = \frac{1}{p_i}$  ( $i = 1, \dots, r$ ). Then an easy computation gives

$$f'(a_1) = 2kt \cdot (1+t)^{k-1} \cdot \ln x_1 \cdot [(1+t)^k - 2t(1-t)^{k-1}],$$

where  $t = x_1^{a_1} \cdots x_r^{a_r}$ . Now  $g(t) = (1+t)^k - 2t(1-t)^{k-1} > 0$  as  $2t < 1+t$ ,  $0 < 1-t < 1+t$ . Thus, we get  $f'(a_1) < 0$ , implying  $f(a_1) \leq f(1)$ , as  $\ln x_1 < 0$ . Thus, for the function

$$F(a_1, a_2, \dots, a_r) = (1 + x_1^{a_1} \cdots x_r^{a_r})^{2k} + 2(1 - x_1^{2a_1} \cdots x_r^{2a_r})^k$$

of  $r$  variables, one has  $F(a_1, a_2, \dots, a_r) \leq F(1, a_2, \dots, a_r)$ .

Let now define  $f_1(a_2) = F(1, a_2, \dots, a_r)$ . An easy computation gives

$$f_1'(a_2) = 2kp(1+p)^{k-1} \cdot \ln x_2 \cdot [(1+p)^k - 2p(1-p)^{k-1}],$$

where  $p = x_1 x_2^{a_2} \cdots x_r^{a_r}$ . As  $2p < 1 + p$ ,  $1 - p < 1 + p$ , we get  $(1 + p)^k - 2p(1 - p)^{k-1} > 0$ . As  $\ln x_2 < 0$ , we get  $f'_1(a_2) < 0$ , implying  $F(1, a_2, \dots, a_r) \leq F(1, 1, \dots, a_r)$ . By repeating the argument  $r$  times, we get  $F(a_1, \dots, a_r) \leq f(1, 1, \dots, 1)$ , so relation (22) follows.

For the second inequality of Theorem 12, remark that since  $\psi(n) \geq n + 1$ , it will be sufficient to prove that

$$\varphi^k(n) + \psi^{k-1}(n)\varphi(n) + \psi^k(n) \geq (n - 1)^k + 2n(n + 1)^{k-1}. \quad (23)$$

Dividing both sides of (23) by  $n^k$ , and by remarking again that  $\varphi(n)/n$  and  $\psi(n)/n$  depend only on the prime factors  $p_1, \dots, p_r$  of  $n$ , it will be sufficient to prove the inequality for  $n = p_1 \cdots p_r$ . This follows by Lemma 2, by selecting  $x_i = p_i$  ( $i = 1, 2, \dots, r$ ).

For the proof of Theorem 13, remark that we have to prove the second inequality of relation (15). Since  $\sigma^*(n) \geq n + 1$ , it will be sufficient to prove that

$$(\varphi^*(n))^k + \varphi^*(n)(\sigma^*(n))^{k-1} + (\sigma^*(n))^k \geq (n - 1)^k + 2n(n + 1)^{k-1}. \quad (24)$$

This follows by Lemma 2 for  $x_i = p_i^{a_i}$  ( $i = 1, 2, \dots, r$ ), for  $n = p_1^{a_1} \cdots p_r^{a_r}$  being the prime factorization of  $n$ .

### 3 Notes on new arithmetic functions and inequalities

First remark that as Lemmas 1, 2, 3, 4 are valid for any  $x_i > 1$ , we can apply them in a variety of other situations.

Let  $s > 0$  be a real number, and apply Lemma 1 for  $x_i = p_i^{sa_i}$  ( $i = 1, 2, \dots, r$ ). Then  $x_i \geq 2^{sa_i} \geq 2^s > 1$  as  $s > 0$ .

Define now the following extensions of  $\varphi^*(n)$  and  $\sigma^*(n)$ :

$$\varphi_s^*(n) = \prod_{i=1}^r (p_i^{sa_i} - 1), \quad \sigma_s^*(n) = \prod_{i=1}^r (p_i^{sa_i} + 1). \quad (25)$$

Then by Lemma 1 we get:

**Theorem 14.**

$$(\varphi_s^*(n))^k + 2(\sigma_s^*(n))^k \geq (n^s - 1)^k + 2(n^s + 1)^k. \quad (26)$$

By applying Lemma 3 for the same  $x_i$ , we get

**Theorem 15.**

$$(\sigma_s^*(n))^k + 2\varphi_{sk}^*(n) \geq (n^s + 1)^k + 2(n^{sk} - 1) \quad (27)$$

for any integer  $h \geq 1$ , and  $s > 0$  a real number.

By Lemma 2, we get

$$(\varphi_s^*(n))^k + \varphi_s^*(n)(\sigma_s^*(n))^{k-1} + (\sigma_s^*(n))^k \geq (n^s - 1)^l + 2n^s \cdot (n^s + 1)^{k-1}. \quad (28)$$

**Remark 1.** We can remark that, when  $s$  is a positive integer, then  $\varphi_s^*(n) = \varphi^*(n^s)$  and  $\sigma_s^*(n) = \sigma^*(n^s)$ , but this is not true if  $s$  is not a positive integer.

By example, when  $s = 1/2$ ,

$$\varphi_{1/2}^*(n) = \prod_{i=1}^r (\sqrt{p_i}^{a_i} - 1) = \frac{\varphi^*(n)}{\sigma_{1/2}^*(n)},$$

so from (26), after elementary transformations, we get

$$(\varphi^*(n))^2 + 2(\sigma_{1/2}^*(n))^4 \geq (3n + 2\sqrt{n} + 3)(\sigma_{1/2}^*(n))^2. \quad (29)$$

Let now  $x_i = 1 \frac{p_i}{1}$  ( $i = 1, 2, \dots, n$ ) in Lemma 1, with  $p_i$  ( $i = 1, 2, \dots, n$ ) being the prime factors of  $n$ . Let us introduce the new arithmetic function:

$$\tilde{\psi} = n \cdot \prod_{p|n} \left(2 + \frac{1}{p}\right), \quad (30)$$

which is an analogue of Dedekind's arithmetical function. Let  $\gamma(n) = p_1 \cdots p_r$  be the "core" function of  $n$  (see [5]). Then we get from Lemma 1:

**Theorem 16.**

$$\frac{1}{(\gamma(n))^k} + 2 \left( \frac{\tilde{\psi}(n)}{n} \right)^k \geq \left( \frac{\psi(n)}{n} - 1 \right)^k + 2 \left( \frac{\psi(n)}{n} + 1 \right)^k. \quad (31)$$

Let us now introduce the following extension of the core function  $\gamma(n)$ :

$$\frac{1}{\gamma_k(n)} = \prod_{i=1}^r \left[ \left(1 + \frac{1}{p_i}\right)^k - 1 \right]. \quad (32)$$

For  $k = 1$  we get  $\gamma_k(n) = p_1 \cdots p_r = \gamma(n)$ . Now, by Lemma 3, applied to  $x_i = 1 + 1/p_i$  ( $i = 1, 2, \dots, r$ ), we get:

**Theorem 17.**

$$\left( \frac{\tilde{\psi}(n)}{n} \right)^k + \frac{2}{\gamma_k(n)} \geq \left( \frac{\psi(n)}{n} + 1 \right)^k + 2 \left[ \left( \frac{\psi(n)}{n} \right)^k - 1 \right]. \quad (33)$$

Applying Lemma 2 for the same values of  $x_i$ , we get

**Theorem 18.**

$$\frac{1}{(\gamma(n))^k} + \frac{1}{\gamma(n)} \cdot \left( \frac{\tilde{\psi}(n)}{n} \right)^{k-1} + \left( \frac{\tilde{\psi}(n)}{n} \right)^k \geq \left( \frac{\psi(n)}{n} - 1 \right)^k + 2 \frac{\psi(n)}{n} \cdot \left[ \frac{\psi(n)}{n} + 1 \right]^{k-1}. \quad (34)$$

Applying Lemma 4 for the same values of  $x_i$ , we get

**Theorem 19.**

$$\left( \frac{\tilde{\psi}(n)}{n} \right)^{2k} + \frac{2}{(\gamma_2(n))^k} \geq \left( \frac{\psi(n)}{n} + 1 \right)^{2k} + 2 \left[ \left( \frac{\psi(n)}{n} \right)^2 - 1 \right]^k. \quad (35)$$

Finally, applying Lemma 4 to  $x_i = p_i^{s a_i}$  ( $i = 1, \dots, r$ ),  $s > 0$ , we get the inequalities

**Theorem 20.**

$$(\sigma_s^*(n))^{2k} + (\varphi_s^*(n))^k (\sigma_s^*(n))^k \geq (n^s + 1)^{2k} + 2(n^{2s} - 1)^k. \quad (36)$$



## References

- [1] Dimitrov, S. (2023). Lower bounds on expressions dependent on functions  $\varphi(n)$ ,  $\psi(n)$ , and  $\sigma(n)$ . *Notes on Number Theory and Discrete Mathematics*, 29(4), 713–716.
- [2] Dimitrov, S. (2024). Lower bounds on expressions dependent on functions  $\varphi(n)$ ,  $\psi(n)$ , and  $\sigma(n)$ , II. *Notes on Number Theory and Discrete Mathematics*, 30(3), 547–556.
- [3] Sándor, J. (2014). On certain inequalities for  $\sigma$ ,  $\varphi$ ,  $\psi$  and related functions. *Notes on Number Theory and Discrete Mathematics*, 20(2), 52–60.
- [4] Sándor, J. (2024). On certain inequalities for  $\sigma$ ,  $\varphi$ ,  $\psi$  and related functions, II. *Notes on Number Theory and Discrete Mathematics*, 20(3), 575–579.
- [5] Sándor, J., & Crstici, B. (2004). *Handbook of Number Theory II*, Springer.